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H k kxH k kxH k kxH k kx     – I / PART – I 

c ky fodk l o  f' k{k k' kkL=c ky fodk l o  f' k{k k' kkL=c ky fodk l o  f' k{k k' kkL=c ky fodk l o  f' k{k k' kkL= / CHILD DEVELOPMENT AND PEDAGOGY 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %     f uEu fy f[ kr iz'uk s a d s m Ù kj ns us d s f y,     l c ls m fprl c ls m fprl c ls m fprl c ls m fpr     f od Yi pq f u,A     
Direction :  Answer the following questions by selecting the most appropriate option. 

1. ; fn igys lh[ kk  x ;k  d k; Z u , lh [k s tk  jgs 
d k ;Z eas c k/k k mRiUu  d jr k gS( rk s v f/k xe  
d k  ; g LF k ku ka rj. k gks xk % 

(1) l d kjkR ed 

(2) u d kjkR ed  

(3) 'k w U; 

(4) iz kF k fe d   

  

1. If a previously learned task impedes 

a new task, which is being learnt. 

This transfer of learning will be : 

(1) Positive Transfer  

(2) Negative Transfer  

(3) Zero Transfer  

(4) Primary  

2. fu Eu ka fd r eas ls d k S u&lh  Ý k;M  ds 
e uks&y Sa f xd  f od kl d h v oLF kk  u gh au gh au gh au gh a  gS \ 
 

(1) e q [k ko LF kk 

(2) iw o Z la f Ø ; kRe d  v oLF k k 

(3) xq Ir ko LF kk  

(4) xq nko LF kk 

  
2. Which of the following is not a   

stage of Freud's Psycho-Sexual 

development ?  

(1) Oral Stage  

(2) Preoperational Stage  

(3) Latency Stage  

(4) Anal Stage 

3. iq uc Z yu  d h d kS u &lh v uqlw p h lcl s T;k nk 
izH kko h gS \ 

(1) p j v uq ik r 

(2) l rr iq uc Z yu  

(3) f LF kj vU rjky 

(4) f LF kj vu q ikr 

  
3. Which schedule of reinforcement is 

most effective ?  

(1) Variable ratio  

(2) Continuous reinforcement  

(3) Fixed-interval  

(4) Fixed-ratio 

www.cclchapter.com



[ A ] [ 4 ] 

Level-1/6101   

4. ; g rF ; fd  ^ e Nyh  mM+ u gh a ld rh v kS j 
m Yyw r S ju k ugha l h[ k ld rs*  d k fu fgrkF kZ 
gS %  

(1) m i; q Dr iq uc Z yu d h  d e h 

(2) m ud s v uqH ko d h  d eh 

(3) bu  th ok s a d h lq Lr h  

(4) v f /kxe ij tS f od  lh ek v ks a d k izHk ko 

  
4. The fact that 'fish cannot fly and 

owls cannot learn to swim' is an 

indication of : 

(1) lack of adequate reinforcement  

(2) their lack of experience  

(3) the laziness of these creatures 

(4) the effects of biological limits on 

learning 

5. ^'k s fia x* d h  l a d Yiu k nh x; h gS %  
 

(1) F k kW u ZMkbd  }k jk 

(2) iko yk s o }k jk  

(3) f Ld uj }k jk 

(4) bu es a ls d ks bZ ugha 

  
5. The concept of 'Shaping' has been 

given by : 

(1) Thorndike  

(2) Pavlov  

(3) Skinner  

(4) None of these 

6. 'kS YM u d s v uq lk j fu Euf yf[ kr es a ls 
d k S u&lk  O ;fDr Ro d k  iz d k j u gh au gh au gh au gh a gS \ 
 

(1) , . Mk s ekWQ hZ 

(2) e s lks e kWQ h Z 

(3) , DVk s ekW Q hZ 

(4) , LF kk s ek WQ hZ 

  
6. According to Sheldon which of the 

following is not the type of 

personality ? 

(1) Endomorphy 

(2) Mesomorphy 

(3) Ectomorphy 

(4) Esthomorphy 
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7. fu Eu fyf [k r es a ls dkS u &l h O ;fDr Ro ek iu 
d h  e uk sfo'ys "k. k kRe d  fo f/k  u ghau ghau ghau gha gS \ 
 

(1) e q Dr lkgp; Z 

(2) l k{kk Rd k j 

(3) 'k Cn lk gp ;Z  

(4) Lo Iu  f o'y s "k. k 

  
7. Which of the following is not the 

Psychoanalytic Method of personality 

measurement ? 

(1) Free association 

(2) Interview 

(3) Word association 

(4) Dream analysis 

8. ,d iwoZ lafØ;kRed  Lrj ds cPps dh og 
izòfÙk ftlesa og fdlh ifjfLFkfr ds flQZ ,d 
igyw ij /;ku nsrk gS vkSj vU; igyqvksa dh 
mis{kk djrk gS] dks fi;kts us dgk % 

(1) l a j{k . k 

(2) d s U nz hd j. k 

(3) Ø e c) r k 

(4) v u q dw yu 

  
8. The tendency of a pre operational 

child to focus on one aspect of a 

situation, neglecting other aspects 

has been termed by Piaget as : 

(1) Conservation  

(2) Centration  

(3) Seriation 

(4) Adaptation 

9. fu Eu ka fd r ea s ls d k Su&lh  Loy hur k ; q Dr  
c kyd  ds f'k {k. k d h  , d  fof/k  gS \ 

(1) PECS 

(2) c z s y 

(3) V s yj Ý s e 

(4) bu es a ls d ks bZ ugha  

  
9. Which of the following is a method 

to teach Autistic children ?  

(1) PECS  

(2) Braille  

(3) Taylor Frame  

(4) None of these 

www.cclchapter.com



[ A ] [ 6 ] 

Level-1/6101   

10. fu Eu fyf [k r es a ls D; k iz kF kf ed  iq uc Z yd  ds 
:i es a iz ; ks x gk s l d rk  gS \ 

(1) iz'ka lk  

(2) , d  fc fLd V 

(3) c gq r v PNk d guk 

(4) bu es a ls d ks bZ ugha 

  
10. Which of the following may act as a 

primary reinforcer ?  

(1) Praising  

(2) A biscuit  

(3) Saying very good  

(4) None of these 

11. fM Lxz kfQ ; k , d  iz d k j gS % 

(1) p yu v {ke rk  d k 

(2) n` f" V nks "k  d k 

(3) e ku fld  e a nr k d k 

(4) v f /kxe v {ke rk  d k 

  
11. Dysgraphia is a type of : 

(1) Locomotor disability 

(2) Visual impairment 

(3) Mental retardation 

(4) Learning disability 

12. fuEufyf[kr esa ls fdlus loZizFke uSfrd 
fodkl dk fl)kUr fn;k Fkk \ 

(1) f i; kts 

(2) d k s gy cxZ 

(3) f xf yxu  

(4) d k s bZ f od Yi lgh ugha gS 

  
12. Who among the following first gave 

the theory of Moral Development ? 

(1) Piaget 

(2) Kohlberg 

(3) Gilligan 

(4) No option is correct 

13. o xZ le w gu  d h ;k s X;r k d k  f od kl gks rk  gS % 
 

(1) l a os nh xk ed  v o LF kk  ds nkS jku  

(2) iw o Z la f Ø ; kRe d  v oLF k k ds nk S jk u 

(3) e w rZ la f Ø ;k Red  v o LF kk  d s nkS jk u 

(4) vkSipkfjd lafØ;kRed  voLFkk ds nkSjku 

  
13. The ability of class grouping 

develops during : 

(1) Sensory motor Stage  

(2) Preoperational Stage  

(3) Concrete Operational Stage 

(4) Formal Operational Stage 
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14. , d  cPp k d grk  gS f d  ^ e k¡ v kt  lw jt 
m nk l gS* o g fu Eu fyf [ k r e s a ls iw oZ 
la f Ø ;k Re d  fpa ru  d h  fd l lh ek  d h v ks j 
la d s r d j jgk gS \ 

(1) v k Red sUnz . k 

(2) , fu fe Te 

(3) v k n'k Z ok n 

(4) iz Ñ fr o kn 

  
14. A child says, "Mumma today the Sun 

is sad". It indicates which of the 

following limitation of preoperational 

thought ?  

(1) Egocentrism  

(2) Animism  

(3) Idealism  

(4) Naturalism 

15. fi; kts }k jk fn, x, l aKku kR ed fo d k l 
fl ) kUr d s v uq lk j fuE uka fd r ea s l s fd l 
iz fØ ; k e a s cPps v ius Ld h ek  ea s la'k ks/ku 
v F ko k u , Ld he k d k  f uekZ .k d jr s gS a \ 
 

(1) v k Rel kr hd j. k  

(2) l ea tu 

(3) v H ; ka r jh d j. k 

(4) v u q ca/k u 

  
15. According to the Cognitive 

Development Theory of Piaget, in 

which of the following Process 

children either modify or form a new 

schema based on new experience ?  

(1) Assimilation  

(2) Accommodation  

(3) Internalization  

(4) Conditioning 

16. o kb xk s RLd h  d s v uq l kj ,d  cPp k ftu  d k;ks± 
d k s v ius ls n{k O;f Dr d h lgk; rk  l s iw jk 
d j l d rk  gS ml d h Å ijh lhe k d gy kr h 
gS %  
 

(1) l aHk kf or f od kl d k  Lr j 

(2) o kLr fo d  fo d kl kRe d  Lrj 

(3) l ehiLF k f od k l d k {ks = 

(4) l H kh fo d Yi l gh  gS a 

  
16. According to Vygotsky, the upper 

limit of tasks that a learner can 

successfully perform with the 

assistance of a more competent 

individual is termed as : 

(1) Level of Potential Development  

(2) Actual Developmental Level  

(3) Zone of Proximal Development  

(4) All options are correct 
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17. fu Eu ka fd r ea s ls d kS u  ls in d k  r kRi; Z , d  
fo | k F kh Z d s l gh  m Ù kj d h lEH k ko uk  d ks 
c <+ ku s ok ys la d s r ks a ls gS \ 
 

(1) e fLr "d  m} s yu 

(2) iz ks EI V 

(3) l ykg  

(4) bu es a ls d ks bZ ugha  

  
17. Which term refers to extra cues 

designed to increase the chances of a 

student's providing the correct answer 

to a question ?  

(1) brainstorming  

(2) prompt  

(3) suggestions  

(4) None of these  

18. e kW Mf ya x v k /kk fjr gS % 

(1) 'k kL=h ; v uq c a/ku  d s f l) kUr ij 

(2) f Ø ;k  iz lw r v uq c a/ku d s fl ) kUr ij 

(3) l kek ftd  l a Kku kR ed  fl ) kUr ij  

(4) iz ;k l ,o a =q f V d s fl) k Ur ij  

  
18. Modelling is based on : 

(1) Classical Conditioning Theory 

(2) Operant Conditioning Theory 

(3) Social Cognitive Theory 

(4) Trial and Error Theory 

19. v Yc VZ ca M q jk tkus t kr s gS a % 
 

(1) l kek ftd  v f /kxe fl ) kUr d s f y, 

(2) e uk s ySa fxd  fo d kl  f l) kUr d s fy, 

(3) l a os xkRe d  fo d kl  f l) kU r d s fy, 

(4) u S fr d  fo dkl f l) kUr d s fy, 

  
19. Albert Bandura is known for his 

theory of : 

(1) Social learning 

(2) Psycho sexual development  

(3) Emotional development  

(4) Moral development 

20. v kW f VTe  d h lo Z izF k e O; k[ ;k  d h  F kh % 

(1) d S u j us 

(2) M km u us 

(3) f Ld uj us 

(4) f lxea M  Ý k ;M  u s 

  
20. Autism was first described by : 

(1) Kanner  

(2) Down  

(3) Skinner  

(4) Sigmund Freud 
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21. fu Eu ka fd r es a ls d kS u&lk  fu jh{k. k kRe d 
v f/ kxe  d k rR o u gh au gh au gh au gh a  gS \ 

(1) /; ku  

(2) l a xz g. k  

(3) m Riknu  

(4) r S ;k jh  

  
21. Which of the following is not a 

component of Observational Learning ?  

(1) Attention  

(2) Retention  

(3) Production  

(4) Preparation 

22. c z ks a Qs u cz su s j d s tS o ikf jfLF kf rd h ; ek W My ds 
v u ql kj cPp s ds ek rk f ir k]  mld s H k kbZ 
c gu  v k fn mnkgj.k  gS a % 

(1) l w{e ra =  d s 

(2) c ká  r a = ds 

(3) c ` gr ~ ra =  d s 

(4) l e; r a = d s 

  
22. According to the Bronfenbrenner's 

Bioecological model, the parents, 

siblings of the child are example of : 

(1) Micro System  

(2) Exo System  

(3) Macro System 

(4) Chrono System 

23. fu Eu fyf [k r e sa ls d kS u&lh  cz w u j d h 
la K ku kRed  fo d kl fl ) kUr d h v o LF kk u ghau ghau ghau gha 
gS \ 

(1) , s fØ f yd  v o LF kk 

(2) f Ø ;k Re d  v o LF kk 

(3) iz fr fc Eck Re d  v o LF kk  

(4) l a d s rk Red  v o LF kk 

  

23. Which of the following is not the 

stage of Bruner's Cognitive 

Development Theory ? 

(1) Acrylic stage 

(2) Enactive stage 

(3) Iconic stage 

(4) Symbolic stage 
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24. e s ;j , o a l yks o s d s v uq lkj fu Euk a fd r es a ls 
d k S u&lh  iz fØ ; k H kko u kRed cq f)  d s la iz R;; 
e a s 'kk fe y u ghau ghau ghau gha gS \ 

(1) l e> 

(2) iz R;{k. k 

(3) iz ca/ ku 

(4) jpu k 

  
24. According to Mayer and Salovey,  

which of the following processes is not 

an aspect of emotional intelligence ? 

(1) Understanding 

(2) Perception 

(3) Management 

(4) Construction 

25. lq Yr ku  ij f d ; k x; k d ks g yj d k v uq l a/ kku 
v f/ kxe  d s fd l  l S ) ka frd  n`f "V d ks . k  d h 
iq f"V d jrk  gS \ 

(1) v a r n` Z f "V v f /kxe 

(2) xq Ir v f /kxe 

(3) LF k ku  v f /kxe 

(4) e kW M fya x 

  
25. Kohler's research with Sultan 

supports which theoretical view of 

learning ?  

(1) Insight learning  

(2) Latent learning  

(3) Place learning  

(4) Modeling 

26. ^ n` f" V ls gVu s d s ckn ef Lr" d  ls gV  
tk uk *] fd l d h mi; q Dr O;k[; k gS \ 

(1) v k ja f H kd  la os nh xk ed  v oLF kk 

(2) v k ja f H kd  iw oZ laf Ø ;k Red  vo LF kk  

(3) v k ja f H kd  fd 'k ks jko LF kk 

(4) f d 'kk sjk oLF k k 

  
26. 'Out of sight Out of mind', best 

describes : 

(1) Early sensory motor stage  

(2) Early preoperational stage  

(3) Early adolescence  

(4) Adolescence 
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27. fu Eu ka fd r es a l s fd ld k  v/; ;u  e uk s fo Kku 
, oa f'k {k. k 'kk L= d s iz frPN s n fc Unq ij 
fLF k r gS \ 

(1) l d kjkR ed  eu ks f oK ku 

(2) v k S | ks f xd  e uk sf oKku 

(3) l a xB ukR ed  e uksf oK ku 

(4) f 'k{kk  e uk s fo Kku 

  
27. The study of which of the following 

lies at the intersection of psychology 

and pedagogy ?  

(1) Positive psychology  

(2) Industrial psychology  

(3) Organizational psychology  

(4) Educational psychology 

28. Ld S Q ks fYM a x d h lad Yiu k nh x; h gS %  
 

(1) F k kW u ZMkbd  }k jk 

(2) iko yk s o }k jk  

(3) o kb xks RLd h  }kjk  

(4) f Ld uj }k jk 

  
28. The concept of 'Scaffolding' has 

been given by : 

(1) Thorndike  

(2) Pavlov  

(3) Vygotsky  

(4) Skinner 

29. ^ , d  c kf yd k  ds m ld s firk  d s iz fr 
v kd "kZ . k*  d ks Ý k; M us d gk gS % 

(1) bys DV ª k xz a f F k 

(2) v k sfMil xz a fF k 

(3) u S fr d  }a } 

(4) e kS f [k d  xz a fF k 

  
29. 'The attraction of a girl child towards 

her father' was termed by Freud as : 

(1) Electra Complex  

(2) Oedipus Complex  

(3) Moral Conflict  

(4) Oral Complex 

30. fd lus f'k 'k qv ks a ds efLr "d  d ks ^ [ kky h Lys V* 
e kuk  F kk \ 

(1) t kW u yk Wd (2) M kf oZ u 

(3) f Liu ks t+ k  (4) o kV ~lu  

  
30. Who believed that infant's brain is 

like a 'Tabula Rasa' ?  

(1) John Locke  (2) Darwin  

(3) Spinoza  (4) Watson 
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HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

[ fgUnhfgUnhfgUnhfgUnh / HINDI ] 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    

31. ^Luku&ouku* in eas dkSu&lk lekl gS \ 

(1) vO;;hHkko lekl 

(2) }U} lekl 

(3) rRiq#"k lekl 

(4) deZ/kkj; lekl 

32. foykse dh n`f"V ls vlaxr pqfu, % 

(1) fuf"k) & fofgr 

(2) fuHkhZd & 'kwjohj 

(3) ink:<+ & inP;qr 

(4) izo`fÙk & fuo`fÙk 

33. viknku dkjd;qDr okD; pqfu, % 

(1) cPps canj ls Mjrs gSaA 

(2) eSa mls vius gkFkksa ltk nw¡xkA 

(3) efgyk vk¡[kksa ls va/kh gSA 

(4) og lc vksj ls lSfudksa }kjk ?ksj fy;k 
x;k FkkA 

34. ^vuqie* 'kCn eas dkSu&lk milxZ tqM+k gS \ 

(1) vu (2) vu~ 

(3) vuq (4) vuqi 

35. 'kq) okD; pqfu, % 

(1) eSa esjs ?kj tkÅ¡xkA 

(2) rqe rqEgkjk dke djksA 

(3) ge gekjs /keZ dk ikyu djuk pkfg,A 

(4) ;g okdbZ ,d xaHkhj leL;k gSA 

36. ^vkatus;* 'kCn esa iz;qDr izR;; gS % 

(1) ,; (2) ; 

(3) us; (4) ,s; 

37. pkSFkk] ik¡pok¡ dSls fo'ks"k.k gSa \ 

(1) vko`fÙklwpd 

(2) leqnk;cks/kd 

(3) Øeokpd 

(4) ifjek.kokpd 

38. ^vH;qn;* 'kCn eas laf/k dk izdkj crkb, % 

(1) o`f) laf/k 

(2) O;atu laf/k 

(3) xq.k laf/k 

(4) ;.k~ laf/k 
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39. fdl 'kCn eas ^bu* izR;; dk iz;ksx lgh 
ughaughaughaugha gqvk gS \ 

(1) dq¡tfM+u  

(2) ukfxu 

(3) ukbZu  

(4) bZlkbu 

40. laca/klwpd loZuke in Nk¡fV, % 

(1) dqN 

(2) tks 

(3) fdruk 

(4) dSlk 

41. fdl fodYi eas fuR; cgqopukUr 'kCn ughaughaughaugha 
gS \ 

(1) vk¡lw  

(2) O;k[;krk 

(3) v{kr  

(4) n'kZu 

42. Hkkookpd laKk in gS % 

(1) Hkwdai  

(2) fo/kk;d 

(3) cpiu 

(4) ijLij 

43. dkSu&lk 'kCn ^bUnz/kuq"k* dk i;kZ; ughaughaughaugha 
gS \ 

(1) lqjpki 

(2) lIro.kZ 

(3) ?kudksnaM 

(4) vejs'oj 

44. ßjke us fdlku dh t+ehu gfFk;k yhAÞ 
js[kkafdr 'kCn eas iz;qDr fØ;k pqfu, % 

(1) izsj.kkFkZd fØ;k 

(2) la;qDr fØ;k 

(3) uke/kkrq fØ;k 

(4) vdeZd fØ;k 

45. fo'ks"k.k in pqfu, % 

(1) ,s'o;Z 

(2) d.Bks"B 

(3) xq.k'kkyh 

(4) mUufr 
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[ vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH ] 

Direction :  Answer the following questions by selecting the most appropriate option. 

46. Choose the correct spelling of the 

given word : 

(1) vacumm 

(2) vacuum 

(3) vacume 

(4) vaccum 

47. How ......... you ......... there ? 

(1) do, got 

(2) are, get 

(3) does, get 

(4) did, get 

48. The comparative form of 'useful' is : 

(1) Usefuller 

(2) Usefuler 

(3) The most useful 

(4) More useful 

49. Choose the part of the sentence that 

is incorrect :  

We've seen Leela in town the other 

day. 

(1) We've seen 

(2) Leela 

(3) in town 

(4) the other day 

50. A Kennel is a place where : 

(1) Horses are kept 

(2) Dogs are kept 

(3) Pigs are kept 

(4) Cats are kept 

51. Shivaji was a great King. 

The underlined words are : 

(1) Nouns 

(2) Pronouns 

(3) Interjections 

(4) Adjectives 
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52. Choose the correct option to fill the 

blank : 

......... dog is a faithful animal. 

(1) An 

(2) A 

(3) The 

(4) Some 

53. The word which is not a synonym of 

'Foe' is : 

(1) Enemy 

(2) Opponent 

(3) Friend 

(4) Adversary 

54. One word for 'that is sure to happen' 

is : 

(1) Inevitable 

(2) Oblivious 

(3) Illusion 

(4) Relevant 

55. He was fined ....... parking his 

car ..... a no-parking area. 

(1) about, at 

(2) for, in 

(3) from, in 

(4) in, at 

56. He came late. 

'Late' here is : 

(1) An Adjective 

(2) An Adverb 

(3) A Conjunction 

(4) A Noun 

57. The synonym of 'cold' is : 

(1) hot 

(2) rainy 

(3) pleasant 

(4) chilly 
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58. That is your house. 

The underlined word is : 

(1) Noun 

(2) Pronoun 

(3) Preposition 

(4) Adverb 

59. Choose the grammatically correct 

sentence : 

(1) Shachi goes abroad last year. 

(2) Shachi will go abroad last year. 

(3) Shachi will be going abroad next 

year. 

(4) Shachi will be go abroad next 

year. 

 

 

60. Match the following : 

(A) Dogs (i) mew 

(B) Cows (ii) neigh 

(C) Cats (iii) croak 

(D) Frogs (iv) bark 

(E) Horses (v) moo 

(1) A-ii, B-iv, C-v, D-i, E-iii 

(2) A-iv, B-v, C-i, D-iii, E-ii 

(3) A-ii, B-iv, C-v, D-iii, E-i 

(4) A-v, B-iii, C-iv, D-ii, E-i 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u / GENERAL STUDIES 

[ ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKku / QUANTITATIVE 

APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ] 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    
Direction :  Answer the following questions by selecting the most appropriate option. 

61. 
121

67
9  dk oxZewy gS % 

(1) 
11

68
 (2) 

11

23  

(3) 
11

20
 (4) 

11

34  

  
61. Square root of 

121

67
9  is : 

(1) 
11

68
 (2) 

11

23  

(3) 
11

20
 (4) 

11

34  

62. 44(x4 – 5x
3 – 24x

2) esa 11x (x – 8) dk 
Hkkx nhft, % 

(1) 4x (x – 8) (2) 4x (x + 8) 

(3) 4x (x – 3) (4) 4x (x + 3) 

  
62. Divide 44(x4 – 5x

3 – 24x
2) by 

11x (x – 8) : 

(1) 4x (x – 8) (2) 4x (x + 8) 

(3) 4x (x – 3) (4) 4x (x + 3) 

63. ;fn 11 ehVj diM+k ` 100 esa [kjhnk x;k 
rFkk 10 ehVj ` 110 dh nj ls cspk] rks 
ykHk izfr'kr gS % 
 

(1) 12% (2) 17% 

(3) 19% (4) 21% 

  
63. If 11 metres cloth is purchased for 

` 100 and is sold at the rate of 

10 metres for ` 110, then the profit 

percentage is : 

(1) 12% (2) 17% 

(3) 19% (4) 21% 

64. fuEu la[;k Js.kh dk vxyk in Kkr 
dhft, % 

1, 4, 10, 22, 46 ......... . 

(1) 70 (2) 86 

(3) 94 (4) 122 

  
64. Find the next term of the following 

number series : 

1, 4, 10, 22, 46 ......... . 

(1) 70 (2) 86 

(3) 94 (4) 122 
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65. ` 12,000 ij 10% okf"kZd pØo`f) C;kt 

dh nj ls 1
2

1  o"kZ esa fdruh jkf'k pqdkuh 

iM+sxh \ tcfd pØo`f) dh x.kuk 
v/kZokf"kZd gks % 

(1) ` 13,891.50 

(2) ` 19,831.50 

(3) ` 31,918.50 

(4) ` 13,230.50 

  
65. What total amount is to be paid on a 

sum of ` 12,000 for 1
2

1
 years at 

10% per annum compounded half 
yearly ? 

(1) ` 13,891.50 

(2) ` 19,831.50 

(3) ` 31,918.50 

(4) ` 13,230.50 

66. ,d Hkou eas 24 csyukdkj [kEHksa gSaA izR;sd 
[kEHks dh f=T;k 28 lseh rFkk Å¡pkbZ 4 eh 
gSA ` 25 izfr eh2 dh nj ls lHkh [kEHkksa 
ds oØkdkj i`"Bksa ij jax djus dh dqy 
ykxr Kkr dhft, % 
 

(1) ` 2424  

(2) ` 4242 

(3) ` 4224  

(4) ` 4424 

  
66. In a building, there are 24 cylindrical 

pillars. The radius of each pillar is 

28 cm and height is 4 m. Find the 

total cost of painting the curved 

surface area of all pillars at the rate 

of ` 25 per m2 : 

(1) ` 2424  

(2) ` 4242 

(3) ` 4224  

(4) ` 4424 

67. euh"k] jksgu] fodkl vkSj uohu ds e/;] 
euh"k jksgu ls cM+k gS vkSj fodkl uohu 
vkSj jksgu ls NksVk gSA euh"k uohu ls mez 
esa cM+k gS] rks buesa dkSu lcls NksVk gS \ 
 
 

(1) euh"k (2) jksgu 

(3) fodkl (4) uohu 

  
67. Among Manish, Rohan, Vikas and 

Naveen, Manish is older than Rohan 

and Vikas is younger than Naveen 

and Rohan. Manish is older than 

Naveen. Who among them is the 

youngest ? 

(1) Manish (2) Rohan 

(3) Vikas (4) Naveen 
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68. fn;s x;s 'kCnksa dks vFkZiw.kZ vuqØe eas 
O;ofLFkr dhft, % 

1. iqLrd 2. ydM+h 3. taxy 4. dkxt 
5. yqxnh 
(1) 2, 3, 5, 1, 4 
(2) 3, 2, 4, 5, 1 
(3) 3, 5, 2, 4, 1 
(4) 3, 2, 5, 4, 1 

  
68. Arrange the given words in a 

meaningful sequence : 

1. Book 2. Timber 3. Jungle 4. Paper 

5. Pulp 

(1) 2, 3, 5, 1, 4 
(2) 3, 2, 4, 5, 1 
(3) 3, 5, 2, 4, 1 
(4) 3, 2, 5, 4, 1 

69. ,d iq#"k dh vksj bafxr djrs gq;s] ,d 
efgyk cksyh] ßbldh ekrk] esjh ekrk dh 
,dek= iq=h gSAÞ efgyk ml iq#"k ls fdl 
izdkj lEcfU/kr gS \ 

(1) ekrk 

(2) nknh 

(3) cgu 

(4) iq=h 

  
69. Pointing to a man, a woman said, 

"His mother is the only daughter of 

my mother." How is the woman 

related to the man ? 

(1) Mother 

(2) Grandmother 

(3) Sister 

(4) Daughter 

70. ,d ,slh la[;k Kkr dhft, ftldk ,d 
pkSFkkbZ 7 ls 3 vf/kd gS % 

(1) 40  

(2) 60 

(3) 80  

(4) 100 

  
70. Find a number, such that one-fourth 

of the number is 3 more than 7 : 

(1) 40  

(2) 60 

(3) 80  

(4) 100 

71. ;fn 264 * 2 = 6, 870 * 3 = 11, rks 
735 * 5 = ? 

(1) 16  

(2) 12 

(3) 5  

(4) 3 

  
71. If 264 * 2 = 6, 870 * 3 = 11, then 

735 * 5 = ? 

(1) 16  

(2) 12 

(3) 5  

(4) 3 
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72. 5 eh pkSM+h nks ledksf.kd lM+dsa 70 eh 
yEcs rFkk 45 eh pkSM+s vk;rkdkj m|ku ds 
dsUnz ls xqtjrh gSa rFkk m|ku dh nhokjksa ds 
lekUrj gSaA ` 100 izfr eh2 dh nj ls 
lM+dsa cukus dh ykxr Kkr dhft, % 
 

(1) ` 57,750  

(2) ` 55,500 

(3) ` 55,000  

(4) ` 50,500 

  
72. Two cross roads, each of width 5 m, 

run at right angles through the centre 

of a rectangular park of length 70 m 

and breadth 45 m and parallel to its 

sides. Find the cost of constructing 

the roads at the rate of ` 100 per m2 : 

(1) ` 57,750  

(2) ` 55,500 

(3) ` 55,000  

(4) ` 50,500 

73. ,d ekufp= eas iSekuk 1 : 30000000 
fn;k gSA ekufp= esa nks 'kgj 4 lseh nwjh 
ij gSaA muds e/; okLrfod nwjh Kkr 
dhft, % 

(1) 12 × 102 fdeh 

(2) 12 × 103 fdeh 

(3) 12 × 105 fdeh 

(4) 12 × 107 fdeh 

  
73. The scale of a map is given as 

1 : 30000000. Two cities are 4 cm 

apart on the map. Find the actual 

distance between them : 

(1) 12 × 102 km 

(2) 12 × 103 km 

(3) 12 × 105 km 

(4) 12 × 107 km 

74. ,d fo|ky; Vhe us xr o"kZ eas 4 thrs 
[ksyksa ds eqdkcys esa bl o"kZ 6 [ksy thrsA 
izfr'kr o`f) D;k gS \ 

(1) 25% 

(2) 33% 

(3) 50% 

(4) 66% 

  
74. A school team wins 6 games this 

year against 4 games won last year. 

What is the percent increase ? 

(1) 25% 

(2) 33% 

(3) 50% 

(4) 66% 
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75. ;fn ,d fuf'pr dwV Hkk"kk esa] 'MIND' 
dks 'KGLB' fy[kk tkrk gS vkSj 
'ARGUE' dks 'YPESC' fy[kk tkrk gS] 
rks blh leku dwV Hkk"kk esa 'DIAGRAM' 
dks fy[kk tk;sxk % 
(1) BGYEYPK 
(2) BGYEPYK 
(3) GLPEYKB 
(4) BGEPYLK 

  
75. If in a certain code language, 'MIND' 

is written as 'KGLB' and 'ARGUE' is 

written as 'YPESC', then 

'DIAGRAM' will be written in same 

code as : 
(1) BGYEYPK 
(2) BGYEPYK 
(3) GLPEYKB 
(4) BGEPYLK 

76. nh xbZ Js.kh eas fuEu eas ls dkSu&lk v{kj 
3 vkSj 1 ds ,dne e/; esa fLFkr gS \ 
 

B E 6 D A U & 3 T I Q 8 9 C # 2 M 

% U 1 M W 7 5 J 8 L 

(1) 9  (2) C 
(3) # (4) 2 

  
76. Which of the following letter is 

exactly in the middle of 3 and 1 in 

the given series ? 

B E 6 D A U & 3 T I Q 8 9 C # 2 M 

% U 1 M W 7 5 J 8 L 

(1) 9 (2) C 
(3) # (4) 2 

77. vlaxr dks Kkr dhft, % 

(1) tuojh  

(2) ebZ 

(3) tqykbZ  

(4) uoEcj 

  
77. Find the odd one : 

(1) January  

(2) May 

(3) July  

(4) November 

78. vki nf{k.k dh vksj tk,¡] fQj nk,¡ eqM+sa] 
fQj nksckjk nkbZa vksj eqM+sa vkSj fQj ckbZa 
vksj tk,¡A vc vki fdl fn'kk esa gSa \ 

(1) if'pe 

(2) nf{k.k 

(3) iwoZ 

(4) mÙkj 

  
78. You go South then turn right, then 

turn right again and then go to the 

left, in which direction are you now ? 

(1) West 

(2) South 

(3) East 

(4) North 
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79. ljy dhft, % 

6 ÷ [6 + 6 ÷ {6 + 6 ÷ (6 + 6 ÷ 12)}] 

(1) 
15

101
 (2) 

103

90  

(3) 
130

90
 (4) 

13

72  

  
79. Simplify : 

6 ÷ [6 + 6 ÷ {6 + 6 ÷ (6 + 6 ÷ 12)}] 

(1) 
15

101
 (2) 

103

90  

(3) 
130

90
 (4) 

13

72  

80. fuEu o.kZ Js.kh dk vxyk in Kkr 
dhft;s % 

DEF, HIJ, MNO, ......... 

(1) RTV (2) STU 

(3) RST (4) SRQ 

  
80. Find the next term of the following 

letter series : 

DEF, HIJ, MNO, ......... 

(1) RTV (2) STU 

(3) RST (4) SRQ 

81. 2019 esa lEiUu gq, fo/kkulHkk pquko eas 
izR;k'kh@mEehnokj ds fy, O;; dh 
vf/kdre lhek Fkh % 

(1) 18 yk[k (2) 25 yk[k 

(3) 28 yk[k (4) 30 yk[k 

  
81. Maximum expenditure limit for a 

Candidate in assembly election, 

which was held in 2019 : 

(1) 18 Lakh (2) 25 Lakh 

(3) 28 Lakh (4) 30 Lakh 

82. fdl o"kZ gfj;k.kk fo/kkulHkk dh vf/kdre 
dqy la[;k 90 dh xbZ \ 

(1) 1967 (2) 1971 

(3) 1977 (4) 1985 

  
82. In which year the strength of Haryana 

Assembly was raised to 90 ? 

(1) 1967 (2) 1971 

(3) 1977 (4) 1985 

83. fuEukafdr esa ls dkSu&lk lcls NksVk oU; 
vHk;kj.; gS \ 

(1) fNyfNyk 

(2) [kksy gh&jsrku 

(3) chj f'kdkjx<+ 

(4) [kijokl 

  
83. Out of the following, which is the 

smallest Wild Life Sanctuary ? 

(1) Chhilchhila 

(2) Khol Hi-Raitan 

(3) Bir Shikargarh 

(4) Khaparwas 
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84. lqJh lksfu;k ykBsj fdl [ksy ls lEcfU/kr 
gSa \ 

(1) dq'rh 

(2) dcìh 

(3) ,FkysfVDl 

(4) eqDdsckth 

  
84. Ms. Sonia Lather is associated with 

which of the following sports ? 

(1) Wrestling 

(2) Kabaddi 

(3) Athletics 

(4) Boxing 

85. fuEufyf[kr esa ls dkSu&lk ,d lgh ;qXe 
ughaughaughaugha gS \ 

(1) lwjtdqaM >hy & dq#{ks= 

(2) nenek >hy & xq#xzke 

(3) fry;kj >hy & jksgrd 

(4) cM+[ky >hy & Qjhnkckn 

  
85. Which one of the following pairs is 

not correctly matched ? 

(1) Surajkund Lake – Kurukshetra 

(2) Damdama Lake – Gurugram 

(3) Tilyaar Lake – Rohtak 

(4) Badkhal Lake – Faridabad 

86. LorU=rk lsukuh ^uokc vgen vyh [kk¡* 
gfj;k.kk ds fdl 'kgj ls lEcfU/kr Fks \ 
 

(1) cYyHkx<+ 

(2) >Ttj  

(3) jkfu;k¡ 

(4) Q#Z[kuxj 

  
86. Freedom fighter 'Nawab Ahmed Ali 

Khan' was belong to which city of 

Haryana ? 

(1) Ballabhgarh 

(2) Jhajjar 

(3) Rania 

(4) Farrukhnagar 

87. gfj;k.kk dk fuEufyf[kr esa ls dkSu&lk 
ftyk viuh lhek fdlh vU; jkT; ds lkFk 
lk>k ughaughaughaugha djrk \ 

(1) xq#xzke 

(2) iyoy 

(3) than 

(4) pj[kh nknjh 

  
87. Which of the following districts of 

Haryana does not share its boundary 

with any other state of India ? 

(1) Gurugram 

(2) Palwal 

(3) Jind 

(4) Charkhi Dadri 
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88. gfj;k.kk ds uoxfBr NBs jkT; foÙk vk;ksx 
ds lnL; lfpo dkSu gSa \ 
 

(1) MkW0 vfer vxzoky 

(2) iadt ;kno 

(3) ih0 jk?kosUnz jko 

(4) fodkl xqIrk 

  
88. Who is the Member Secretary of the 

newly constituted sixth state Finance 

Commission of Haryana ? 

(1) Dr. Amit Agarwal 

(2) Pankaj Yadav 

(3) P. Raghavendra Rao 

(4) Vikas Gupta 

89. ^euksgj T;ksfr* ;kstuk lEc) gS % 

(1) gfj;k.kk ljdkj }kjk fu%'kqYd 
eksfr;kfcan vkWijs'kuA 

(2) t:jrean ?kjkas dks ,d y?kq lkSj ÅtkZ 
iz.kkyh miyC/k djok, tkus lsA 

(3) detksj oxks± dh ckfydkvksa gsrq 
fu%'kqYd vkoklh; fo|ky;ksa lsA 

(4) ,d LFkk;h vfXu T;ksfr] tks fd 
dq#{ks= eas LFkkfir dh tk jgh gSA 

  
89. 'Manohar Jyoti' Scheme is related to : 

(1) Free cataract surgery by the 

Haryana government. 

(2) Providing a small solar system 

to needy households. 

(3) Free boarding school for girls of 

weaker sections. 

(4) A permanent fire flame, which is 

being installed at Kurukshetra. 

90. nzks.kkpk;Z iqjLdkj&2020 ds fy, gfj;k.kk 
ds fuEufyf[kr esa ls fdl izf'k{kd dks pquk 
x;k gS \ 

(1) fodkl efyd 

(2) egkohj QksxkV 

(3) jkechj flag [kks[kj 

(4) d`".k dqekj gqìk 

  
90. Which of the following coaches of 

Haryana is selected for Dronacharya 

Award-2020 ? 

(1) Vikas Malik 

(2) Mahavir Phogat 

(3) Rambir Singh Khokhar 

(4) Krishna Kumar Hooda 
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 [ 25 ] [ A ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101  P. T. O. 

HkkxHkkxHkkxHkkx – IV / PART – IV 

xf.krxf.krxf.krxf.kr / MATHEMATICS 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    
Direction :  Answer the following questions by selecting the most appropriate option. 

91. ,d oxkZdkj eSnku 50 ehVj yEckbZ dk gS] 
blds vUnj pkjksa vksj 6 ehVj dk ekxZ 
cuk gqvk gSA ekxZ ij 30 #i;s izfr oxZ 
ehVj dh nj ls yky feêh Myokus dk O;; 
gksxk % 
 

(1) 75000 #i;s 

(2) 58080 #i;s  

(3) 31680 #i;s 

(4) 1080 #i;s 

  
91. A 6 meter wide pathway has been 

constructed along the periphery and 

inside of a square field of length 

50 meter. The total expenditure to 

cover this pathway with red sand at 

the rate of Rs. 30 per square meter, is : 

(1) Rs. 75000 

(2) Rs. 58080  

(3) Rs. 31680 

(4) Rs. 1080 

92. oxZ dh izR;sd Hkqtk dh yEckbZ esa 20% dh 
o`f) djus ij mlds {ks=Qy esa fdrus 
izfr'kr o`f) gksxh \ 

(1) 44% (2) 40% 

(3) 20% (4) 22% 

  
92. On increasing the length of each side 

of a square by 20%, the percentage 

increase in its area is : 

(1) 44% (2) 40% 

(3) 20% (4) 22% 
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[ A ] [ 26 ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101   

93. lcls NksVh vHkkT; la[;k gS % 

(1) 0 

(2) 1 

(3) 2 

(4) 3 

  
93. Least prime number is : 

(1) 0 

(2) 1 

(3) 2 

(4) 3 

94. N% yxkrkj vkus okyh izkd`r la[;kvksa esa 
ls ;fn igyh rhu izkd`r la[;kvksa dk ;ksx 
36 gS] rks vafre rhu la[;kvksa dk ;ksx 
gksxk % 
 

(1) 45 

(2) 52 

(3) 56 

(4) 55 

  
94. If the sum of first three natural 

numbers from a group of six 

consecutive natural numbers is 36, 

then the sum of last three natural 

numbers will be : 

(1) 45 

(2) 52 

(3) 56 

(4) 55 
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 [ 27 ] [ A ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101  P. T. O. 

95. fuEu esa ls dkSu&lh] vf/kxedÙkkZ ds 
lkef;d Kku ds ijh{k.k ds fy, lokZf/kd 
mi;qDr gS \ 

(1) mipkjkRed (2) ladYukRed 

(3) funkukRed (4) izHkkokRed 

  
95. Which of the following is most 

appropriate to assess a learner's 

current knowledge ? 

(1) Remedial (2) Summative 

(3) Diagnostic (4) Affective 

96. ;fn (125)
x
 = 3125 gks] rks x dk eku 

gS % 

(1) 
2

3
 (2) 3 

(3) 
5

3
 (4) 

3

5  

  96. If (125)
x
 = 3125, then the value of x 

is : 

(1) 
2

3
 (2) 3 

(3) 
5

3
 (4) 

3

5  

97. 

13

9
,

7

4
,

5

3
,

3

2  dk y?kqÙke lekioR;Z gS % 

 

(1) 
3

20
 (2) 

7

18  

(3) 42 (4) 36 

  97. Least common multiple of 

13

9
,

7

4
,

5

3
,

3

2
 is : 

(1) 
3

20
 (2) 

7

18  

(3) 42 (4) 36 
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[ A ] [ 28 ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101   

98. fuEu esa ls dkSu&lk dFku@fodYi xyr    
gS \ 

(1) ewY;kadu izHkkoh ikB~;Øe fuekZ.k djus 
esa enn djrk gSA 

(2) ewY;kadu mís'; dsfUnzr gksrk gSA 

(3) ewY;kadu f'k{k.k&vf/kxe izfØ;k esa 
ckSf)d ekxZn'kZu iznku djrk gSA 
 

(4) ewY;kadu dh izfØ;k dsoy fo"k;oLrq 
ij dsfUnzr gksrh gSA 

  
98. Which of the following statements is 

wrong ? 

(1) Evaluation helps in developing 

effective curriculum. 

(2) Evaluation is objective centred. 

(3) Evaluation provides intelligent 

guidance in teaching-learning 

process. 

(4) Evaluation process is only 

subject-centered. 

99. 14 fo|kfFkZ;ksa ds izkIrkadksa dk vkSlr 71 Fkk 
ijUrq tk¡p djus ij irk pyk fd ,d 
Nk= ds izkIrkad 56 dh ctk; 42 vkSj 
nwljs ds 32 dh txg 74 bUnzkt gks x;s 
Fks] lgh vkSlr gS % 
 

(1) 69 (2) 71 

(3) 74 (4) 68 

  
99. The average of marks of fourteen 

students was 71. After checking it came 

to notice that the marks of a student 

were entered 42 instead of 56 and 

marks of another student were entered 

74 instead of 32, the correct average is : 

(1) 69 (2) 71 

(3) 74 (4) 68 
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 [ 29 ] [ A ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101  P. T. O. 

100. ,d gkSt 15 ehVj yEck] 10 ehVj pkSM+k 
,oa 3 ehVj xgjk gSA mldh pkjksa nhokjksa 
o isans dh ejEer djus dk O;; 24 #i;s 
izfr oxZ ehVj dh nj ls gksxk % 
 

(1) 9600 #i;s 

(2) 4800 #i;s 

(3) 3600 #i;s 

(4) 7200 #i;s 

  
100. A water tank is 15 meter long, 

10 meter wide and 3 meter deep. The 

total cost to repair its four walls and 

bottom at the rate of 24 rupees per 

square meter is : 

(1) Rs. 9600 

(2) Rs. 4800 

(3) Rs. 3600 

(4) Rs. 7200 

101. ,d Qy foØsrk us 750 #i;s dh nj ls 
nks isVh vke cspsA mueas ls ,d isVh ij 
25% ykHk o nwljh ij 25% gkfu gqbZA 
bl lkSns eas fdrus izfr'kr ykHk vFkok gkfu 
gqbZ \ 
 

(1) 5% ykHk 

(2) u ykHk u gkfu 

(3) 6.25% ykHk 

(4) 6.25% gkfu 

  
101. A fruit vendor sells two boxes of 

mango at the rate of Rs. 750 each. 

He earns 25% profit on one box and 

suffers a loss of 25% on another box. 

In this business what is his loss or 

profit percent ? 

(1) 5% profit 

(2) Neither profit nor loss 

(3) 6.25% profit 

(4) 6.25% loss 
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[ A ] [ 30 ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101   

102. ;fn 4
1

=−

x
x  gks] rks 

3

3
1

x
x −  dk eku 

gS % 
 

(1) 60 

(2) 76 

(3) 64 

(4) 72 

  
102. If 4

1
=−

x
x , then the value of 

3

3
1

x
x −  is : 

(1) 60 

(2) 76 

(3) 64 

(4) 72 

103. xf.kr dh izd`fr gS % 

(1) vewrZ  

(2) vrkfdZd 

(3) vfof'k"V  

(4) vO;ofLFkr 

  
103. Nature of Mathematics is : 

(1) Abstruct 

(2) Illogical 

(3) Non-specific 

(4) Un-arranged 
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 [ 31 ] [ A ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101  P. T. O. 

104. fdlh ?kM+h ds feuV dh lqbZ dks 
2

π3  

jsfM;u dks.k dh jpuk djus esa fdruk 
le; yxsxk \ 

(1) 30 feuV 

(2) 45 feuV 

(3) 15 feuV 

(4) 20 feuV 

  
104. How much time does the minute 

hand of a watch take to describe an 

angle of 
2

π3
 radian ? 

(1) 30 minutes 

(2) 45 minutes 

(3) 15 minutes 

(4) 20 minutes 

105. ;fn 3
x–y

 = 81 rFkk 5
x+y

 = 625 gks] rks 
x, y dk eku gS % 

(1) x = 5, y = 1 

(2) x = 2, y = 0 

(3) x = 3, y = 1 

(4) x = 4, y = 0 

  
105. If 3

x–y
 = 81 and 5

x+y
 = 625, then the 

value of x and y are : 

(1) x = 5, y = 1 

(2) x = 2, y = 0 

(3) x = 3, y = 1 

(4) x = 4, y = 0 
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[ A ] [ 32 ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101   

106. ;fn ,d leckgq f=Hkqt dh Hkqtk dh yEckbZ 
6 lseh gS] rks bldh Å¡pkbZ gS % 
 

(1) 3 3  lseh 

(2) 9 3  lseh 

(3) 3 lseh 

(4) 5 3  lseh 

  106. If the length of a side of an 

equilateral triangle is 6 cm, then its 

height is : 

(1) 3 3  cm 

(2) 9 3  cm 

(3) 3 cm 

(4) 5 3  cm 

107. ;fn fdlh f=Hkqt eas AB = AC rFkk ∠B, 

∠A dk nksxquk gS] rks ∠C dk eku gksxk % 

(1) 36° 

(2) 72° 

(3) 60° 

(4) 48° 

  
107. In a triangle, if AB = AC and ∠B is 

double of ∠A, then the value of ∠C 

is : 

(1) 36° 

(2) 72° 

(3) 60° 

(4) 48° 
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 [ 33 ] [ A ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101  P. T. O. 

108. 364, 455 dk fdrus izfr'kr gS \ 

(1) 75%  

(2) 60% 

(3) 80%  

(4) 58% 

  
108. 364 is what percentage of 455 ? 

(1) 75%  

(2) 60% 

(3) 80%  

(4) 58% 

109. cgqinksa 20x
2
 – 9x + 1 rFkk 5x

2
 – 6x + 1 

dk egÙke lekiorZd (H.C.F.) gS % 

(1) x – 1 

(2) 5x – 1 

(3) 4x – 1 

(4) 5x + 1 

  
109. The H.C.F. of the polynomials 

20x
2
 – 9x + 1 and 5x

2
 – 6x + 1, is : 

(1) x – 1 

(2) 5x – 1 

(3) 4x – 1 

(4) 5x + 1 
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[ A ] [ 34 ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101   

110. ;fn ,d lecgqHkqt ds izR;sd vUr%dks.k dk 
eku 175° gks] rks Hkqtkvksa dh la[;k gS % 
 

(1) 54  

(2) 72 

(3) 60  

(4) 15 

  
110. If each interior angle of a regular 

polygon is 175°, then the number of 

sides are : 

(1) 54  

(2) 72 

(3) 60  

(4) 15 

111. nks vadksa dh ,d la[;k esa bdkbZ dk vad 
ngkbZ ds vad dk nksxquk gSA ;fn la[;k esa 
27 tksM+ nsa] rks vadkas dk LFkku vkil eas 
cny tkrk gSA og la[;k gS % 

(1) 24 

(2) 12 

(3) 36 

(4) 48 

  
111. In a two digit number the unit's digit 

is twice the ten's digit. If 27 is added 

to the number, the digits interchange 

their places, the number is : 

(1) 24 

(2) 12 

(3) 36 

(4) 48 
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 [ 35 ] [ A ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101  P. T. O. 

112. ß;g u dsoy laHko gS oju~ xf.kr dk 
euksfoKku eas iz;ksx vko';d Hkh gSAÞ ;g 
dFku fdldk gS \ 

(1) ek'kZy 

(2) gjcVZ 

(3) fdyiSfVªd 

(4) csykMZ 

  112. "This is not only possible but also it 
is necessary to apply Mathematics 
on Psychology." This statement is 
given by : 

(1) Marshal 

(2) Herbert 

(3) Kilpatrik 

(4) Ballard 

113. ;fn ,d Nk=kokl eas 40 Nk=kas ds fy, 30 
fnu dh Hkkstu lkexzh gS] rks 60 Nk=ksa ds 
fy, ;g lkexzh fdrus fnuksa ds fy, i;kZIr 
gksxh \ 

(1) 20 fnu 

(2) 24 fnu 

(3) 18 fnu 

(4) 15 fnu 

  
113. If in a hostel there is sufficient food 

for 30 days for 40 students, then this 

food will last for how many days for 

60 students ? 

(1) 20 days 

(2) 24 days 

(3) 18 days 

(4) 15 days 
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[ A ] [ 36 ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101   

114. ,d fo|kFkhZ dks fdlh la[;k dks 
8

3  ls xq.kk 

djus dks dgk ijUrq mlus ml la[;k dks 

8

3  ls Hkkx dj fn;kA bl izdkj izkIr mÙkj 

lgh mÙkj ls 55 vf/kd Fkk] rks lgh mÙkj 
gS % 

(1) 18  

(2) 24 

(3) 9  

(4) 27  

  
114. A student was asked to multiply a 

certain number by 
8

3
 but he divided 

the number by 
8

3
. In this process he 

got the answer 55 more than the 
actual answer. The actual answer is : 

(1) 18  

(2) 24 

(3) 9  

(4) 27 

115. 3(x + 2)2 + 5(x + 2) + 2, ds xq.ku[k.M 
gSa % 

(1) (3x + 5) (x + 2) 

(2) (3x + 8) (x + 3) 

(3) (3x + 8) (x + 5) 

(4) (3x + 1) (x + 2) 

  115. The factors of 3(x + 2)2 + 5(x + 2) + 2 

are : 

(1) (3x + 5) (x + 2) 

(2) (3x + 8) (x + 3) 

(3) (3x + 8) (x + 5) 

(4) (3x + 1) (x + 2) 
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 [ 37 ] [ A ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101  P. T. O. 

116. jke rFkk ';ke dh orZeku vk;q Øe'k% 34 
o"kZ rFkk 14 o"kZ gS] fdrus o"kZ i'pkr jke 
dh vk;q ';ke dh vk;q dh nksxquh gks 
tk;sxh \ 

(1) 4 o"kZ 

(2) 5 o"kZ 

(3) 6 o"kZ 

(4) 8 o"kZ 

  
116. The present age of Ram and Shyam 

is 34 years and 14 years respectively. 

After how many years Ram's age 

will be double of the Shyam's age ? 

(1) 4 years 

(2) 5 years 

(3) 6 years 

(4) 8 years 

117. fuEufyf[kr vk¡dM+ksa dh ekf/;dk gS % 

25, 34, 31, 23, 22, 26, 35, 28, 20, 32 

(1) 27 (2) 28 

(3) 26 (4) 25 

  
117. The median of the following data : 

25, 34, 31, 23, 22, 26, 35, 28, 20, 32 

(1) 27 (2) 28 

(3) 26 (4) 25 

118. 000576.0  dk eku gS % 

(1) 0.012 (2) 0.024 

(3) 0.24 (4) 0.0024 

  118. The value of 000576.0  is : 

(1) 0.012 (2) 0.024 

(3) 0.24 (4) 0.0024 
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[ A ] [ 38 ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-1/6101   

119. ;fn fdlh lk/kkj.k C;kt dh okf"kZd nj ls 
dksbZ /ku 4 o"kZ eas 1237.50 #i;s vkSj 6 
o"kZ eas 1443.75 #i;s gks tkrk gS] rks 
ewy/ku gS % 

(1) 860.50 #i;s 

(2) 870 #i;s 

(3) 825 #i;s 

(4) vk¡dM+s vi;kZIr gSa  

  
119. If a certain sum becomes 

Rs. 1237.50 in four years with some 

annual rate of simple interest and it 

becomes Rs. 1443.75 in six years, 

then the principal amount is : 

(1) Rs. 860.50 

(2) Rs. 870 

(3) Rs. 825 

(4) Data are insufficient  

120. 

3

2

7

5

5

28

9

2
3

1

51

7

5

17

3

5

−×

−×

dk

dk
 dk eku gS % 

(1) 4 

(2) 5 

(3) 3 

(4) 2 

  
120. The value of 

3

2

7

5

5

28

9

2
51

7

5

17

of

3

1
of

3

5

−×

−×

 is : 

(1) 4 

(2) 5 

(3) 3 

(4) 2 
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 [ 39 ] [ A ] 

Level-1/6101  P. T. O. 

HkkxHkkxHkkxHkkx – V / PART – V 

i;kZoj.k v/;;ui;kZoj.k v/;;ui;kZoj.k v/;;ui;kZoj.k v/;;u / ENVIRONMENTAL STUDIES 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    
Direction :  Answer the following questions by selecting the most appropriate option. 

121. izkf.k;ksa dh ladVkxzLr tkfr;k¡ os gSa % 
 

(1) tks vU; tkfr;ksa ds fy, [krjukd gSaA 
 

(2) tks fof'k"V {ks=kas esa ik;h tkrh gSaA 

(3) ftudh la[;k de gks xbZ gSA 

(4) ftuds yqIr gksus dk [krjk gSA 

  
121. The endangered species of animals 

are those : 

(1) which are dangerous to other 
species. 

(2) which are found in specific areas. 

(3) whose population has declined. 

(4) which are in danger of extinction. 

122. i`Foh ij ekSle ifjorZu gksus dk gksuk bl 
rF; ij vk/kkfjr gS fd % 

(1) i`Foh dk v{k >qdk gqvk gSA 

(2) o"kZ eas i`Foh dh ifjØe.k xfr cnyrh 
gSA 

(3) o"kZ eas i`Foh ds v{k fcUnq fHkUu 
fn'kkvksa eas gksrs gSaA 
 

(4) xfeZ;kas eas i`Foh lw;Z ds fudV gksrh   
gSA 

  
122. The occurrence of Season on earth is 

due to the fact that : 

(1) The earth's axis is tilted. 

(2) The rotation rate of earth 
changes during the year. 

(3) The earth's axis points in 
different directions during the 
year. 

(4) The earth is closer to the sun 
during summers. 

123. foVkfeu B12 eas mifLFkr /kkrq gS % 

(1) lksfM;e  

(2) dksckYV  

(3) eSXuhf'k;e  

(4) yksgk 

  
123. The metal present in vitamin B12 is : 

(1) Sodium  

(2) Cobalt 

(3) Magnesium  

(4) Iron 
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[ A ] [ 40 ] 

Level-1/6101   

124. lh,uth o ck;ksxSl ds eq[; ?kVd gSa % 
 

(1) izksisu 

(2) gkbMªkstu lYQkbM 

(3) esFksu 

(4) ,Fksu 

  
124. The main constituent of Biogas and 

CNG is : 

(1) Propane 

(2) Hydrogen Sulphide 

(3) Methane 

(4) Ethane 

125. fuEufyf[kr esa ls dkSu&lk isVªksfy;e dk 
mimRikn ughaughaughaugha gS \ 
(1) dksd 

(2) fcVqesu 

(3) Lusgd rsy 

(4) iSjkfQu ekse 

  
125. Which of the following is not a 

byproduct of petroleum ? 

(1) Coke 

(2) Bitumen 

(3) Lubricating oil 

(4) Paraffin wax 

126. tSoe.My fjtoZ ds ckjs eas fuEufyf[kr eas 
ls dkSu&lk ,d dFku lR;lR;lR;lR; gS \ 

(1) bldh lhek ds vUnj vU; dksbZ 
lajf{kr {ks= ugha gSA 

(2) bl lajf{kr {ks= eas dsoy lekIr gksus 
okyh iztkfr;k¡ jgrh gSaA 

(3) ;g dsoy ikniksa o tkuojksa ds laj{k.k 
ds fy, gSA 

(4) ;g {ks= tSo fofo/krk o ogk¡ dh 
laLd`fr nksuksa ds laj{k.k ds fy, gSA 

  
126. Which one of the following 

statements is true about a Biosphere 
Reserve ? 

(1) There are no other protected 
areas within its limits. 

(2) It is a protected area where only 
endemic species live. 

(3) It is meant only for the 
conservation of Plants and 
Animals. 

(4) It is meant to conserve both the 
biodiversity and culture of that 
area. 

127. ikfjfLFkfrd ra= eas ÅtkZ izokg gksrk gS % 

(1) pkj fn'kkvksa esa 

(2) rhu fn'kkvksa esa 

(3) nks fn'kkvksa esa 

(4) ,d fn'kk esa 

  
127. Energy flow in ecosystem is : 

(1) Tetra directional 

(2) Tri directional 

(3) Bi directional 

(4) Uni directional 
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128. vkstksu ds ckjs esa fuEu esa ls lR;lR;lR;lR; gS % 
(A) ;g tkuojksa o ikniksa ds 'olu ds 

fy, vfuok;Z gSA 

(B) ;g ijkcSaxuh fdj.kksa dk vo'kks"k.k 
djrh gSA 

(C) ok;q eas bldk izfr'kr yxHkx 3% gSA 

(D) bldk mi;ksx ty dks jksxk.kq jfgr 
djus esa djrs gSaA 

(1) A, B vkSj C (2) B vkSj D 

(3) dsoy B (4) A vkSj D 

  
128. The following is true about ozone : 

(A) It is essential for respiration of 
animals and plants. 

(B) It absorbs ultraviolet rays. 

(C) Its percentage in air is almost 
3%. 

(D) It is used to disinfect water. 
 

(1) A, B and C (2) B and D 

(3) Only B (4) A and D 

129. Xykscy okfe±x ¼oSf'od xekZgV½ eas 
rkieku % 

(1) {kksHke.My dk c<+rk gS 

(2) vk;ue.My dk c<+rk gS 

(3) e/;e.My dk c<+rk gS 

(4) lerkie.My dk c<+rk gS 

  
129. In 'global warming' the temperature 

of : 

(1) Troposphere increase 

(2) Ionosphere increase 

(3) Mesosphere increase 

(4) Stratosphere increase 

130. frCcr dh lkaxiks unh Hkkjr esa fdl uke 
ls tkuh tkrh gS \ 

(1) xaxk (2) ;equk 

(3) czãiq= (4) flU/kq 

  
130. Tsangpo river of Tibet is known in 

India as : 

(1) Ganga (2) Yamuna 

(3) Brahmaputra (4) Indus 

131. ty iznw"k.k ls gksus okys jksxksa dk lgh 
lewg gS % 
(1) gStk] isfpl] iksfy;ks] VkbQkWbM 

 
(2) gStk] ihfy;k] VkbQkWbM] ,uhfe;k 

 
(3) ,uhfe;k] LdohZ] okrLQhfr] VkbQkWbM 

 
(4) gStk] ihfy;k] VkbQkWbM] LdohZ 

  
131. Correct group of diseases caused by 

water pollution is : 

(1) Cholera, Dysentery, Polio, 
Typhoid 

(2) Cholera, Jaundice, Typhoid, 
Anaemia 

(3) Anaemia, Scurvy, Emphysema, 
Typhoid 

(4) Cholera, Jaundice, Typhoid, 
Scurvy 
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132. ou ikfjfLFkfrdh ra= esa ikbZ tkus okyh 
[kk| Ük`a[kyk dk p;u dhft, % 

(1) ikniIyod → ty fiLlq → NksVh 
eNyh → Vwuk  

(2) ?kkl → fVìk → esa<d → lkai          
→ ckt 

(3) i.kZdjdV → 'kSoky → dsadM+k → 
NksVh ekalkgkjh eNyh → cM+h 
ekalkgkjh eNyh 

(4) e`r dkcZfud inkFkZ → dod → 
thok.kq 

  
132. Select the food chain found in forest 

Ecosystem : 

(1) Phytoplanktons → Water fleas 
→ Small fish → Tuna 

(2) Grass → Grasshopper → Frog 
→ Snake → Hawk 

(3) Leaf litter →Algae → Crabs → 
Small carnivorous fish → Large 
carnivorous fish 

(4) Dead organic matter → Fungi → 
Bacteria 

133. fuEu eas ls dkSu&lh izfØ;k izÑfr eas gksus 
okys ty pØ dk ,d pj.k ughaughaughaugha gS \ 
 

(1) ok"ihdj.k 

(2) ok"iksRltZu 

(3) vo{ksi.k 

(4) izdk'k la'ys"k.k 

  
133. One of the following processes is not 

a step involved in the water cycle 
operating in nature : 

(1) Evaporation 

(2) Transpiration 

(3) Precipitation 

(4) Photosynthesis 

134. ck;ksMhty ds fy, fdl ikS/ks dh [ksrh dh 
tkrh gS \ 

(1) lks;kchu 

(2) ew¡xQyh 

(3) jrutksr 

(4) lwjteq[kh 

  
134. Which plant is cultivated for 

biodiesel ?  

(1) Soyabean 

(2) Groundnut 

(3) Jatropha 

(4) Sunflower 

135. HkwiiZVh eas lcls vf/kd izpqjrk eas ik;k 
tkus okyk rRo gS % 
(1) dkcZu  
(2) ukbVªkstu 
(3) vkWDlhtu  
(4) flfydkWu 

  
135. The most abundant element found in 

the earth's crust is : 

(1) Carbon  

(2) Nitrogen 

(3) Oxygen  

(4) Silicon 
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136. fuEufyf[kr esa ls dkSu&lk dFku lgh ughaughaughaugha 
gS \ 

(1) ou e`nk dks vijnu ls cpkrs gSaA 
 

(2) ou eas ikni o tUrq ,d nwljs ij 
fuHkZj gksrs gSaA 

(3) ou tyok;q o ty pØ dks izHkkfor 
ugha  djrs gSaA 

(4) e`nk oukas dh o`f) o iqutZuu esa 
lgk;d gksrh gSA 

  
136. Which of the following statements is 

not correct ? 

(1) Forests protect the soil from 
erosion. 

(2) Plants and Animals in a forest 
are dependent on one another. 

(3) Forests do not influence the 
climate and water cycle. 

(4) Soil help forests to grow and 
regenerate. 

137. fo'o i;kZoj.k fnol 2019 dk fo"k; Fkk % 
 

(1) ty iznw"k.k dks gjkuk 

(2) /ofu iznw"k.k dks gjkuk 

(3) ok;q iznw"k.k dks gjkuk 

(4) e`nk laj{k.k 

  
137. The theme of World Environment 

Day 2019 was : 

(1) Beat Water pollution 

(2) Beat Sound pollution 

(3) Beat Air pollution 

(4) Soil conservation 

138. fuEufyf[kr esa ls ÅtkZ ds xSj&ikjaifjd 
lzksrksa dk lewg gS % 

(1) [kfut rsy] izkd`frd xSl] dks;yk 

(2) dks;yk] iou ÅtkZ] ck;ksxSl 

(3) lkSj ÅtkZ] ijek.kq ÅtkZ] iou ÅtkZ 

(4) Hkw&rkih; ÅtkZ] izkd`frd xSl] 
isVªksfy;e 

  
138. A set of non-conventional sources of 

energy out of the following is : 

(1) Mineral oil, natural gas, coal 

(2) Coal, wind energy, bio gas 

(3) Solar energy, atomic energy, 
wind energy 

(4) Geo-thermal energy, natural gas, 
petroleum 

139. fuEu esa ls dkSu&lk Hkkjr ds pkj tSo 
fofo/krk ;qDr gkWV LikWV eas ls ,d gS \ 

(1) vjkoyh igkfM+;k¡ 

(2) [kklh igkfM+;k¡ 

(3) fgeky;  

(4) foU/;kpy igkfM+;k¡ 

  
139. Which of the following is one of 

four biodiversity hot spots of India ? 

(1) Aravali hills 

(2) Khasi hills 

(3) Himalaya 

(4) Vindhyachal hills 
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140. oU; tho laj{k.k vf/kfu;e Hkkjr ljdkj 
}kjk dc ykxw fd;k x;k \ 
 

(1) 1982 

(2) 1974 

(3) 1972 

(4) 1981 

  
140. When did the Government of India 

implemented the Wildlife Protection 
Act ? 

(1) 1982 

(2) 1974 

(3) 1972 

(4) 1981 

141. dkSu&lk lgh lqesfyr ughaughaughaugha gS \ 
 diM+ksa dk izdkj diM+ksa dk izdkj diM+ksa dk izdkj diM+ksa dk izdkj     jkT;jkT;jkT;jkT;    

(1) fQju  tEew vkSj d'ehj 

(2) ikuks&Hkktw  if'pe caxky 

(3) jkfgns   fgekpy izns'k 

(4) Qqydkjh  iatkc 

  
141. Which is not a correct match ? 

  Type of Cloth  State 

(1) Firan Jammu & Kashmir 

(2) Pano-Bhaju West Bengal 

(3) Rahide Himachal Pradesh 

(4) Phulkari Punjab 

142. pUnz xzg.k gksrk gS] tc % 

(1) i`Foh] lw;Z ,oa pUnzek ds chp gksrh gSA 

(2) pUnzek] i`Foh ,oa lw;Z ds chp gksrk gSA 

(3) lw;Z] i`Foh ,oa pUnzek ds chp gksrk gSA 

(4) i`Foh] lw;Z vkSj pUnzek lh/kh js[kk eas 
gksrs gSaA 

  
142. Moon eclipse occurs, when : 

(1) Earth is between Sun and Moon. 

(2) Moon is between Earth and Sun. 

(3) Sun between Earth and Moon. 

(4) Earth, Sun and Moon are in a 
straight line. 

143. ikfjfLFkfrd ra= ,oa izkdf̀rd vf/koklksa dk 
laj{k.k rFkk muds izkdf̀rd okrkoj.kksa eas] 
iztkfr;ksa dk thou{ke tula[;k dk j[kj[kko 
,oa iqu% izkfIr ds fy, iz;qDr in gS % 

(1) vkUrfjd laj{k.k 

(2) ifj/kh; laj{k.k 

(3) viLFkkus laj{k.k 

(4) LoLFkkus laj{k.k 

  
143. The term used for the conservation 

of ecosystem and natural habitat and 
the maintenance and recovery of 
viable population of species in their 
natural surroundings is : 

(1) Core conservation 

(2) Peripheral conservation 

(3) Ex situ conservation 

(4) In situ conservation 
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144. dqN o"kks± igys rd fx) vkerkSj ij 
fn[kkbZ nsrs Fks ysfdu orZeku eas fx) 
dHkh&dHkkj gh utj vkrs gSa] bldk dkj.k 
gS % 
(1) uohu izoklh tkfr;ksa }kjk muds 

vkokl LFkyksa dk fouk'k 
(2) i'kqikydksa }kjk chekj i'kqvksa ds bykt 

esa iz;qDr vkS"kf/k;k¡ 
(3) fx)ksa ds Hkkstu eas vk;h deh 
(4) fx)ksa esa QSyh egkekjh 

  
144. Find the reason why Vultures were 

usually seen until a few years ago 
but now a days the Vultures are 
rarely seen : 

(1) Destruction of their place of 
residence by new migrant 
species 

(2) Drugs used by Animal farmer 
for treat sick animals 

(3) Food shortage of Vultures  

(4) Spread of epidemic in Vultures 

145. fuEu esa ls dkSu&ls fØ;kdyki taxyksa ds 
fouk'k ds fy, mÙkjnk;h gSa \ 
(A) [kfutksa dh [kqnkbZ 
(B) ck¡l ls Vksdjh cukuk 
(C) ck¡/k dk fuekZ.k djuk 
(D) iÙkksa ls iÙky cukuk 
(E) Ñf"k ds fy, Hkwfe rS;kj djuk 
(1) dsoy A (2) B, D vkSj E 

(3) A, C vkSj E (4) B, D vkSj A 

  
145. Which of the following activities is 

responsible for the destruction of 
forests ? 
(A) Mining of minerals 
(B) Weaving baskets from bamboo 
(C) Construction of dam 
(D) Making plates from leaves 
(E) Prepare land for agriculture 
(1) Only A (2) B, D and E 
(3) A, C and E (4) B, D and A 

146. izkÑfrd lalk/kuksa dks yEcs le; rd 
mi;ksx djus ds fy, laj{k.k eas lgk;d 
rhu R gSa % 
(1) iqu% pØ.k] iqu% mRiknu] iqu% mi;ksx 
(2) de mi;ksx] iqu% mRiknu] iqu% mi;ksx 
(3) de mi;ksx] iqu% mi;ksx] iqu% forj.k 
(4) de mi;ksx] iqu% pØ.k] iqu% mi;ksx 

  
146. The three R's which can help us to 

conserve natural resources for long 
term use are : 

(1) Recycle, Regenerate, Reuse 

(2) Reduce, Regenerate, Reuse 

(3) Reduce, Reuse, Redistribute 

(4) Reduce, Recycle, Reuse 

147. ^Hkkjr ty lIrkg* 2019 dc euk;k x;k 
Fkk \ 

(1) 15 tuojh ls 21 tuojh 

(2) 22 ekpZ ls 26 ekpZ 

(3) 2 vDVwcj ls 8 vDVwcj 

(4) 24 flrEcj ls 28 flrEcj 

  
147. When 'India Water Week' 2019 was 

celebrated ? 

(1) 15 January to 21 January 

(2) 22 March to 26 March 

(3) 2 October to 8 October 

(4) 24 September to 28 September 
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148. laxejej dSalj dh ?kVuk dk dkj.k gS % 
 

(1) dTty d.k 

(2) vEyh; o"kkZ 

(3) CFCs 

(4) dksgjk 

  
148. The phenomenon of marble cancer is 

due to : 

(1) Soot particles 

(2) Acid rain 

(3) CFCs 

(4) Fog 

149. lwph&I ¼jk"Vªh; m|ku½ o lwph&II 
¼egÙoiw.kZ oU; tho½ dks lqesfyr dhft, 
rFkk uhps fn;s x;s dwV dh lgk;rk ls 
mÙkj dk p;u dhft, % 
    lwph&lwph&lwph&lwph&I        lwph&lwph&lwph&lwph&II    
(a) fxj jk"Vªh; m|ku (i) gkFkh 
(b) j.kFkEHkkSj (ii) Hkkjrh; 'ksj 
(c) dkthjaxk (iii) ck?k 
(d) ckanhiqj  (iv) ,d lhax okyk 

xsaMk  
(e) daputaxk ikdZ (v) dLrwjh e`x 

(1) a-v, b-iii, c-iv, d-ii, e-i 
(2) a-ii, b-iii, c-iv, d-i, e-v 
(3) a-ii, b-iii, c-v, d-iv, e-i 
(4) a-iii, b-v, c-iv, d-ii, e-i 

  
149. Match List-I (National Park) and 

List-II (Important Wildlife) and 
select the correct answer with the 
help of codes given below : 

 List&&&&I     List&&&&II    

(a) Gir national park (i) Elephant 

(b) Ranthambore (ii) Indian Lion 

(c) Kaziranga (iii) Tiger 

(d) Bandipur (iv) One horned 
Rhino 

(e) Kanchenjunga 
park 

(v) Musk deer 

(1) a-v, b-iii, c-iv, d-ii, e-i 
(2) a-ii, b-iii, c-iv, d-i, e-v 
(3) a-ii, b-iii, c-v, d-iv, e-i 
(4) a-iii, b-v, c-iv, d-ii, e-i 

150. Hkkjr ds fdl {ks= eas LFkkukarfjr [ksrh dh 
tkrh gS \ 

(1) mÙkj&if'peh {ks= eas 

(2) nf{k.kh&iwohZ {ks= eas 

(3) mÙkj&iwohZ {ks= eas 

(4) nf{k.kh {ks= eas 

  
150. Which region of India shifting 

cultivation is practiced ? 

(1) North-Western region 

(2) South-Eastern region 

(3) North-Eastern region 

(4) Southern region 
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6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy 
IokbaV iSu ls iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys 
[kkus dks fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr 
ekuk tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given by 
darkening complete circle using Black ball point pen as 
shown below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given below : 
 

�    �    �    � 

If you fill more than one circle it will be treated as a wrong 

answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA (Rough work should be done only in the space 

provided in the Question Booklet for the same.) 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk 
iz;ksx fuf"k) gSA (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener 

(white fluid) is not allowed for changing answers.) 

9. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d oÙ̀k dks gh iwjh rjg dkys ckWy 
IokbaV iSu ls HkjsaA ,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA (Out of the four alternatives for each question, 

only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer 

Sheet. The answer once marked is not allowed to be changed.) 

10. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu’kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d 
esa fu/kkZfjr LFkku ds vfrfjDr vU;= u fy[ksaA (The candidates should ensure that the Answer Sheet is not folded. Do not make 

any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer 

Sheet.) 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa ¼iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk 
dh fLFkfr dks NksM+dj½ nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA (Handle the Question Booklet and Answer Sheet with 

care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of 

Question Booklet will not be provided.) 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA (The candidates should write the 

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.) 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh 
ifpZ;k¡] istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic 

device or any other material except the Admit Card and Identity Card inside the examination hall/room.) 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos’k dkMZ ¼jksy ua0½ vkSj igpku i= fn[kk,¡A (Each candidate must show on 

demand his/her Admit Card (Roll No.) and identity card to the Invigilator.) 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo’ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA (No candidate, without special permission of 

the Superintendent or Invigilator, should leave his/her seat.) 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn 
fdlh vH;FkhZ us nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g 
vuqfpr lk/ku dk ekeyk ekuk tk,xkA OMR mÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fu’kku 
yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh 
ek=k u rks cgqr vf/kd gks o u gh cgqr deA (The candidates should not leave the Examination Hall without handing over 

their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the 

Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. 

All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should 

be properly inked i.e. they should not be either over inked or dried in nature.) 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA (Use of Electronic/Manual Calculator is prohibited.) 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn’kk&funsZ’k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA 
vuqfpr lk/kuksa ds lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA (The candidates are governed by 

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in 

the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.) 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall 

be detached under any circumstances.) 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo’; lkSai nsaA vH;FkhZ vius lkFk bl 
iz'u&iqfLrdk dks ys tk ldrs gSaA (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator 

in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.) 
 

� � 

www.cclchapter.com


	L1-6101-A.pdf
	B.pdf
	L1-6101-AA.pdf
	1-30_3-11_-_S2-L1_-6101-_CDP_.pdf
	31-45_12-13_-_S2-L1_-6101-_HIN_.pdf
	46-60_14-16_-_S2-L1_-6101-_ENG_.pdf
	61-90_17-24_-_S2-L1_-6101-_QA & RA_.pdf
	91-120_25-38_-_S2-L1_-6101-_MAT_.pdf
	121-150_39-46_-_S2-L1_-6101-_ENV_.pdf

	Y.pdf
	Z.pdf

